Examination Practice Papers (Pearson IGCSE 9-1)
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PAPER 1

1 The surface area ofthe Earth i 5.1 x 10K
The surface area of the Pacific Ocean is 1.8x10%kry.

‘a Express the area of the Pacific Ocean as a percentags of the area of the surface area of the Earth
Give your answer corect to 3 signifcant figures,

The surface area ofthe Arctic Ocean is 1.4 10k

The surface area of the Southern Ocean Is 3.5 10k

b Find the rato of the surface area of the Arctic Ocean to the surface area of the Southem Ocean i the.

form 1:.

2aBxpand 52y - 3) m d Factorise 2¢° - 22¢ 2]
b Expand and simpiy 2x - 1)z + 5) e o Solve 33x -2) =21 2
 Factorise 4y + 24y

3 Two points, A and B, are lotted on a cenfimetre graph.
Aand B have co-ordinates (2, 1) and (8, ) respecively. Calculate the:

2 co-ordinates of the mid-poirt, M, of the e foining A and B m
b length of AB to 3 signficant figures ©
 equation of the line passing through M that is perpendicular 1o AB, expressing your answer n the form

ax+ by +c= O where a, band ¢ areinegers.
4asSovetheinequalty 7r~11>3  [1] b Represent the solution to part a on a number fne. [c]

5 Robin fires 15 arows at a targe.
The table shows information about his scores.

aFind his median score.  [1] b Work out his mean score comect to 3 significant figures. 2]
3 e
1 5
2 [
5 T
0 [
5 1

6 The probabity that a person chosen at random has brown eyes is 0.45
The probabifty that a person chosen at random has green eyes is 0.12

‘2 Work out the probabily that two peopie chosen at random both have either brown eyes or green eyes.
500 people are o be chosen at random.
b Calculate an sstimate for the number of people who will have green yes.
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7 The dagram shows  prsm.
The cross-section of theprism s a Uapezium.
The fengths ofthe parale sices of the trapezium are 9 and Scm.
The distance between the para sides of the rapezium i G,
The lengthof therapezium s 15om. tem
Work out
athe area of the trapeziumin (2] b the volume of th prism n s
Give your answers i standard form.
8A=01.2,8.4
B=(1.3.5
 List the members of the set b Explan ceary the meaning of 5 € & 1

PANB  HAUB 1

9 The table gives information about the ages, n years, o the 80 members of a swimming club.

AGE EsuEier
10<1220 5
20<1=30 25
S0<r=40 50
W0<1=50 0
50<i=60 @

‘a Work outan estimate for the mean age of the 80 members.

b Complete a cumulative frequency table for this data.

© Draw a cumuative frequency graph for your table.

d Use your graph to find an estimate for the median age and inter-quartle range of the
members of the club.

EEE

Dagaam c

10 The diagram represents part ofthe London Eye. Nor

A B and G are points on a circle, centre O. oy

A B and G represent three capsules. -

‘The Gapsules A and B are next to sach other.

Ais at the bottom of the circle and C i at the top.

‘The London Eye has 32 equaly spaced capsules on the circl.

aFind the size of the smaller angle between BC and the horizontal [0}
‘The capsule moves in a cicle of ciameter 135m. regld

b Galoulate the distance moved by a capsule in making a complete.
revolution. Give your answer correct to 3 significant figures @

The capsule moves at an average speed of 0.26mVs.

 Caleulate the time taken for a capsule to make a complete revoluton. Give your answer in minutes,
comect to the nearest sacond. 2]
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1.2 Find the gradient of the line with equation 3 - 4
b Work out the co-orcinates of the point of ntersection of the ine with equation 3x — 4y = 15
‘and the line with equation 5x + 6y = 6

1210502,

a Find the value of
e iigie)

i Show that the composite function fofe) =

ich value of  must be excluded from the domain of fg(z)?

 Solve the equation (1)

fotx)

o
2]

o
o
]

13 The unfinished table and histogram sholw information fom a survey of women about the number of calores in

the food they eat i one day.

B OF CALORES 1 e

0<n= 1000 %0 5
1000 < n = 2000 H
2000 < = 2500 a0 H
2500 <1 = 4000 H

i Use the information i the table to complete the histograr. (2]
Use the information i the histograrm to complete the table. [2)

b Find an estimate for the upper quartile of the number of 0" 500 1000 1500 2000 2500 3000 3800 4000

calories. You must make your method clear. @ N ofcalores ()

14 An slectrician has wires of the same length made from the same material.
The slectrcal resistance, R ohms, of a wire i inversely proportionl o the square of s radius, rmm.
Whenr =2, R=09

a i Express A terms of .
i Sketch the graph of f against .

One of the electrcian's wires has a resistance of 0.1 ohm.

b Caleulate the radius of tis wire in mm.

15 A rectanguiar piece of card has length (x + d)cm and —
width (x + f)om 3cm
Arectangle Scm by 3cm is cut from the comer of the. Olagram
piece of card. e+ o) NoT
The remaining piece of card, shown shaded in the accuratoly
dlagram, has an area of 35, dan

Find x correct 1o 3 significant figures. T

o]
0]
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16 Part of the graph of = x* - 2¢ - 41s shown on the grid.

 Uso thograph o etimatesof e solton o theccuston
222 420, G your answers corect a1 docimal ace
' Draw bl sraght neonth gt ind etmatesof he
solutons of he equaton = 31 - 60
Give your answercomect o1 decima lce
eFory= 20 g
1 i e souton 0%

a ar
of the minimum point of the curve.

and state the co-ordinates

17 In the triangle shown, BC = 7.8cm

Calculate the
a length of AB
e o

b area of triangle AEC.

(Give your answers correct to 3 signifcant fgures.

T
e e ®O®6®® 6
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e e e o e
e iy e s e m
b Calculate the probabilty that both leters willnot be the same.

19 A cylindricaltank has a radius of 30cm and a height of 45cm.
The tank contains water to a depth of 36¢m.

A metal sphere is cropped into the water and is completely covered. ———

e wterleve ises by Scm
Galculatethe surface area of the sphere n o corret to 3 significant fgures. - ®

ssam

205onetorn 135

21 Show thatthe sum of the frst  odd numbers s .

221f1(0) = sinx for 0" x = 360", sketch the graph of -2f(x) and state the co-ordinates of s minimum and
‘maximum points. “
Total Marks = 100





